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Solve the following systems using substitution.

Sx+2y=4
—2x+y =119 y=1+ax 9:|l+&(-&)

5xt201+2x) =Y il '
Gxtadtux=Y4 g1 ‘S‘)Nhon___: (_a’?)l
qx+adz4 @
qr--\§

L";ta

x=2y=—4 > X="HY+y
{—3x+6y=0 -3(-442y) +by =<0
l—ygﬂ(g:()
12 =0

—

\MMI, 13 1§ nevey equat o O

Solve the following systems using elimination.
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Solve the following systems using whichever method you choose. Check your solution using matrices.
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9. The sum of three numbers is 24. Twice the smallest number is 2 less than the largest number, and the
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10. A theater has tickets at $6 for adults, $3.50 for students, and $2.50 for children under 12 years old. A
total of 278 tickets were sold for one showing with a total revenue of $1,300. If the number of adult
tickets sold was 10 less than twice the number of student tickets, how many of each type of ticket were

sold for the showing? x
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Answer Key:
1. (=2,7) 6. (1,-2,4)
2. No Solution 7. (0,0, 3)
3.(3,2) 8. (4,3,-1)
a.(-1,3) 9. Smallest: 5, Middle: 7, Largest: 12
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10. Adult: 150, Student: 80, Child: 48
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